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SECTION II OF THE QUESTION PAPER
CO2CRT06-MCQ - BUSINESS MANAGEMENT

Answer all questions.
All questions carry equal marks

Put a tick mark [v'] against the correct answer

Find the odd one out

(a) board of directors  (b) chief executive

(c) foremen (d) shareholders

Observe the following management principles and pick the odd one out. Justify your answer

(a) unity of command  (b) unity of direction

(c) maximum output (d) equity

Middle management..........

(a) consists of departmental managers  (b) motivates lower management

(c) Both A and B (d) None of these

Administrationisa ........ function

(a) management  (b) planning

(c) directing (d) All of the above

Purpose of time study is ...........

(a) to remove wastage of time (b) to give timely assistance

(c) to determine fair days work ~ (d) watching time

Which of the following is not said to be a feature of coordination?

(a) Managerial responsibility  (b) Provides different functions

(c) Relevant of group efforts (d) Not a separate function

........... co-ordination refers to the description of the behaviour and relationships of the organisation

(a) vertical (b) horizontal
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(c) procedural  (d) substantive

Which among the following is not a principle of delegation?

(a) Functional Definition  (b) Unity of command

(c) Remuneration (d) Authority level principle

Which of the following is not an element of delegation

(a) accountability  (b) authority

(c) responsibility (d) informal organisation

For delegation to be effective it is essential that responsibility be accompanied with necessary

(a) authority (b) manpower

(c) incentives  (d) promotion

Identify the odd one from the following

(a) Notice  (b) memos

(c) orders (d) complains

is the point at which there is no profit or no loss ?

(a) Maximum profit point  (b) Minimum loss point

(c) Break even point. (d) Break down point

The highest level need in the need hierarchy of Abraham Maslow
(a) safety needs (b) belongingness need

(c) self actualisation need  (d) prestige need

Which among the following is not a technique of TQM ?

(a) Re-engineering  (b) Quality measurement

(c) Bench marking  (d) Empowerment

Defects free product creats by
(a) Kaizen (b) Six sigma

(c) Quality circle  (d) Total quality management

According to empirical approach , management is a ----------

(a) study of experience of managers  (b) Decision making

(c) A system of logical process (d) Depends upon the relationship among people.

Policies are ------

(a) Short-range plan (b) Medium —term plan



(c) Long —-range plan  (d) All

18. The number of subordinates that a manager can manage is called-----

(a) Delegation (b) Span of Management

(c) Development  (d) None.

19. Direction is known as ------

(a) Command (b) Supervision

(c) Communication  (d) none

20. The requirement of Effective control system is ------
(a) Flexible  (b) Objective

(c) Suitable  (d) All
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